Constructions
TIC-TAC-TOE

What is the Poin+ of
concurrency that is
the intersection of

the angle bisectors
of a +rian9le?

PontBisthe —___________
of AABC because it is
the intersection of the
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What is the name
given to<?
NDF 2)BE 3)BD

B
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To construct a
median you must
first construct a

Perpendicular
bisector and then

What point of
concurrency is the
intersection of the

medians of a
+riangle? H is cdlled

What point is the
center of the
circumscribed circle?
What points of a
+riangle lie on this

connect —_____ ‘o the circle?

,,,,,,,,,, — of the +rian9|e.

What Poin+ ot Which Poin-{-g of AE =18 cm
concurrency is the FD =7 cm
in+ersec+ionyo43 the conc_urren.cy FE=2 BF =7
angle bisectors of a can lie outside ]

triange? it is the the +r iangle?

center of the
circle.
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